
��
��
��
��
��

:,$752à$3
6&+2'<
.20Ï5.$
à$=,(1.$
32.Ï-�=�$1(.6(0

5$=(0�

3$57(5

����P�

����P�

����P�

����P�

�����P�

�����P�

��
��
��
��
��
��

32''$6=(

6&+2'<
.25<7$5=
*$5'(52%$
à$=,(1.$
32.Ï-
32.Ï-

5$=(0�

3$57(5�32''$6=(

����P�

����P�

����P�

����P�

�����P�

����P�

�����P�

�����P�

$OHNVD�,QZHVW\FMH�6S�]�R�R���XO��3RSU]HF]QD��������������.DWRZLFH
ZZZ�GRP\ZLVOD�SO��PDLO��ELXUR#GRP\ZLVOD�SO��WHO�����������������

G
ó
rs

k
a

 O
sa

d
a

1

�

�

�

�




3

3/$1�6<78$&<-1<

��

����

��

��

��

��

����

��

��

2
*
5
Ï
'
(.

��
��
�P

�


	KRĘTA, WISŁA
	A.01 KARTA KATALOGOWA, budynek nr 1
	A.02 KARTA KATALOGOWA, budynek nr 2
	A.03 KARTA KATALOGOWA, budynek nr 3
	A.04 KARTA KATALOGOWA, budynek nr 4


